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Suppose	you	have	a	message	where	the	letter	"a"	occurs	50%	of	the	
time,	b	occurs	30%	of	the	time,	and	c	occurs	20%	of	the	time.	What	is	
the	best	binary	encoding	of	a,	b,	and	c?

f(a)=00,	f(b)=01,	f(c)=10A)
f(a)=0,	f(b)=1,	f(c)=01B)
f(a)=0,	f(b)=10,	f(c)=11C)

Letter Probability
a 0.3
b 0.25
c 0.2
d 0.15
e 0.1 How	was	your	break?

Midterm	Revision	Guidance:
I	give	hints	on	feedback	- try	to	work	on	own	first•
Come	to	me	or	tutors•
Can	work	with	a	peer	on	a	problem	if you	are	both	similarly	stuck•
Include	mini-reflection	with	revision:	https://www.cs.middlebury.edu/~skimmel/Courses/302S22/misc.html#QuizRev•

Candidate	Lecture
Tuesday	4:30	(Intersection	of	Computing	and	the	Law)•


